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QUESTION 1

Scenario 2: 

After completing the branch activation activities for all required branches, the network administrator attempts to test
connectivity between the various branches and between the hubs and branches. The administrator notices a lack of
connectivity despite being certain that configurations have been complete. The administrator also observed that several
users are reporting intermittent connectivity to some of the applications they are accessing. Other users are reporting no
access to these applications. Other users at some of the branches claim they cannot get to certain public resources.
The administrator wants to ensure that all sites can talk to each other and all resources are accessible. 

Exhibit. 

One branch location is not able to communicate with another branch location via dynamic branch-tobranch tunnels.
While troubleshooting at the Edge configuration level, the network administrator notices Cloud VPN is not enabled and
is grayed out, preventing them from enabling that feature. 

A. Where is the next location to check for and enable the necessary feature? 

B. Within the Configuration section under Profiles. Within the Monitor section under Network Services. 

C. Within the Test and Troubleshooting section under Remote Diagnostics. 

D. Within the Configuration section under Customer VPN enablement. 

Correct Answer: D 

 

 

QUESTION 2

5V0-41.20 Practice Test | 5V0-41.20 Study Guide | 5V0-41.20 Exam Questions                                2 / 6

https://www.geekcert.com/5v0-41-20.html
https://www.geekcert.com/5v0-41-20.html
https://www.geekcert.com/5v0-41-20.html


https://www.geekcert.com/5v0-41-20.html
2024 Latest geekcert 5V0-41.20 PDF and VCE dumps Download

Scenario 2: 

After completing the branch activation activities for all required branches, the network administrator attempts to test
connectivity between the various branches and between the hubs and branches. The administrator notices a lack of
connectivity despite being certain that configurations have been complete. The administrator also observed that several
users are reporting intermittent connectivity to some of the applications they are accessing. Other users are reporting no
access to these applications. Other users at some of the branches claim they cannot get to certain public resources.
The administrator wants to ensure that all sites can talk to each other and all resources are accessible. 

Exhibit. 

Where can the network administrator check to see what routes are present on the London- site Edge? 

A. Log into the VCO > Configuration > Overlay Flow Control 

B. Log into the VCO > Test and Troubleshoot > Remote Diagnostics > Run "List Paths" 

C. Log into the VCO > Test and Troubleshoot > Remote Diagnostics > Run "Route Table Dump" 

D. Log into the VCO > Monitoring > Overlay Flow Control 

Correct Answer: C 

 

QUESTION 3

Scenario 3: 

After resolving numerous connectivity issues throughout the various branch sites, connectivity between applications and
users is finally present. The network administrator is informed that during certain tests, applications are not performing
as they are expected lo. 

Users report that call quality has not fully improved and that some of their calls either drop or have poor voice quality
where the conversation is breaking up. Other users are noticing that file transfers are slower than expect. A group of
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users from a few sites have reported slowness in accessing internal and external applications. 

Exhibit. 

Users are complaining that web pages to certain web sites are very slow to load and at times unresponsive. The
network administrator has verified that the traffic is going correctly out the underlay. 

What should the administrator check next? 

A. Verify if Path-MTU Discovery is disabled. 

B. Verify if there is latency, loss, or jitter on the underlay. 

C. Verify the Business Policy flows are matching. 

D. Verify if routes to Gateways are present in the Overlay Flow Control (OFC). 

Correct Answer: A 

 

 

QUESTION 4

Scenario 3: 

After resolving numerous connectivity issues throughout the various branch sites, connectivity between applications and
users is finally present. The network administrator is informed that during certain tests, applications are not performing
as they are expected to. Users report that call quality has not fully improved and that some of their calls either drop or
have poor voice quality where the conversation is breaking up. Other users are noticing that file transfers are slower
than expect. A group of users from a few sites have reported slowness in accessing internal and external applications. 

Exhibit. 
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A network administrator decides to deploy a local Checkpoint VNF appliance on the Edge in London to cut back on
unnecessary traffic towards the NY hub location. 

The Checkpoint VNF and associated security services were successfully deployed at the London Branch. Users are
now are complaining that Webpages are extremely slow to load, just like before. 

What should the administrator do? 

A. Reboot the Edge, as this is a requirement in the deployment of a Security VNF. 

B. Disable and redeploy the VNF with lower memory requirements. 

C. Verify to see if a firewall rule in the Edge is set to allow traffic to the Checkpoint VNF. 

D. Check the flow records in Remote Diagnostics. 

Correct Answer: B 

 

 

QUESTION 5

Scenario 3: 

After resolving numerous connectivity issues throughout the various branch sites, connectivity between applications and
users is finally present. The network administrator is informed that during certain tests, applications are not performing
as they are expected to. Users report that call quality has not fully improved and that some of their calls either drop or
have poor voice quality where the conversation is breaking up. Other users are noticing that file transfers are slower
than expect. A group of users from a few sites have reported slowness in accessing; internal and external applications. 

Exhibit. 
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A network administrator is configuring several branches to prefer a single prefix, 10.20.11.0/24, from the Seattle hub
over the New York hub for various application performance reasons. 

What are two effective ways the administrator can accomplish this? (Choose two.) 

A. Modify the AS Path in New York to be shorter for 10.20.11.0/24. 

B. In the hub preferred order in the profile, set the Seattle hub to be preferred over New York. 

C. Modify the AS Path in New York to be longer for 10.20.11.0/24. 

D. In the OFC 10.20.11.0/24, modify the preferred exit point to be Seattle and pin the route. 

Correct Answer: BD 
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